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 Answer all questions.

1. Answer the following as directed . 1x10=10
T SR Se e

(a) Total money outlays divided by annual cash
lnﬂow = (Choose the appropriate option)

| @WWW:{WW@WW%
N‘TWW?I (?RITQTWWT%IW)

(i) Pay in period
o i




@ P i (c) “The ﬁnancial leverage indicates the effect -
i) Pay out ratio ‘

ST SEelS

on earnings created by the use of fixed-
charge securities in the capitalisation plan.

The statement is (Choose the right option)

—

(iti) Pay back period

T3 (AR FT A (A &6 e (i) True

.o % t :
(7v) Gross capital recover period ¢y Partlally e i

I oA ST PleT (iii) False
(iv) None of the above
() The future value of Rs 100 invested now at » il ~
* Capitalisation 3! AR Viﬁﬁﬁﬁw fixed

10% compounded annually after three years

will be — (choose the right option) eharce S 70 S
: iy : 9oge Fel W SR @l financial A
TSI 10% 5o =9 100 59 B 8 leverage @ 5+ I3 | (I Teq [efx
IR o 7w www a1 oy Yo 29 ¢ <40) i
(3N Tes ey )
(39 Ri)) .

(2) Rs_ 133 approx (i) o

#5130 . A | (i) S .
(iii) Rs 125 . _ | : (i) SRS (AT 7 |
(iv) Rs 118

' | ' ’ . Conid
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(iii) "The excess of current assets over:
current liabilities. : ’

BeT® (IS @ iafel betfe Aifes sifqmre

_ (iv) All of the above
(€ leverage 3 degree Sy® RN @ 237 SIS SBRER
BER 1%91'7(3%?'1,.\91 PG & =17 < vice
versa 31 f[#1® sitws 7 qt3 | (SReCs)
7 S Tl .

(/) Current assets are twice the cufrcnt liabilities.
If the working capital is Rs. _60,00(), current

: ' ¥ SR . assets would be:: ; i
(¢) The working capital is : F1GFI

77 ¢ 5o TR 5 G el | S e e

7 60,000 W befe offes siffsd 2 s

(1)  The capital invested in the business 0
meet its day to day capital (i) Rs 60,000
" requirements. :

(i) Rs 100,000
- (i) Rs 120,000

: () Rs 110,000
(#) circulating in nature v
SIS @igpfey
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(8) The objective of a good dividendl pol w

A0

afb TN wAteet Frowm Srmd 2 ¢

(i) Maximise the value of the firm
wéwm bl Wﬁrsmm 4

(i)  Minimise the amount to be plou
back
plough back 3¥7 #[31 Trg ST

(iii) Tron out the ﬂuctuation in 'earn'in
S SIS et 2ifeears |

(iv) Prevent speculatlon overtradmg (
transfer of shares '

SR*Pla] speculat1on overtradmg “

VST 2SI 1|

(h) Aceording to the Modigliani and J,J
hypotheSIS the dividend pohcy of a firm
relevant, and affect the wealth 1
shareholders (State true or false)

4 (Sem 5) FNMN/G G

VT wrepiRe ARl e, LQ?ITW\"T"ET
‘Wa—mﬁ“w@c—cﬁw CAC LT

the discussion relating to conceptual
fispects of capital structure, we are not
eoncerned with the following rates of
return :

AL o5 TG SICEABAI e ﬁm@
(<PITCO! rates of return SNIY f&cawy Baw E3E

(/) Return on inVestment'
RETAI 441 i i

(ii) Cost of debt capital
SR GEDE S _

(z’ii) Cost of ’equity capital

Eﬁf%wmm
(zv) Weighted average cost of cap1ta1 '
- weighted
Qi) ‘FWFH 3]?1
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() In financial management, leveragé den
the ability of a firm to use fixed cost a
or funds to magnify the return to
shareholders. (State true o false)

e v (T3, leverage @ SifH o
fixed cost asset =2t I Ay
IR Tt e o T e

TR (BT w5 (7 wpam S 1)

State the meaning of dividend

- HISsIe e BrE 39

] What are the disadvantages’ of excessive
working capital ? '

State the factors determining capital

structure.

YT NI TR AR Srad 4 |

Answer the followmg questlons in about /]

words each : v v

5 followin, W1th1n 150-200 words each
Rl EE RO BeYic o5 2T Teg Answer the follow g 5)(4—20
(a) : State the finance functions : BN 150500 s mh -

ﬁ@ﬂmﬁmw'

(a) Explain the difference between gross

(b Stat th f Net P t . working capital and net working capital
al¢ the meaning of Net Presen Vi

(NPV). Net FIRFR! ot i gross A Y FREF
Net Present 73 wref Sz T o AT A 4|
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Discuss the determinants of working ¢ -.

L YT R P T
1 -

[ixplain the implication of fixed cost bearing
securities on cost of capital of an entity.

..4 WW&W T SIER] @sw fixed cost
bearing &foefeq &S T F1 |

(b) Elaborate the objectives of finan

RSt Discuss the construction and use of 0

_ ' ' ' | profitability index. ﬁ \
: » “’3 ferd) Profitability 53 7RG o GAcmaAel | f 1
St TS t

Or / 9t : |

Answer the following questioné in about 600
vords each : s e

omwﬁwm@ma’m%@aﬁm

@) Discuss the financial goal and compare
between profit maximisation versus wealth

B A | maximisation goals. : 10
(c)  State the consequences of overcapitalisal '

0 e

fréry @%) WiCAsl w9 W Profit
maXimisation 9 wealth maximisation
- TR SEEITES N |
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Or /924y W State the meaning of Capita‘l asset

ey B cing model (CAPMD, 5
Elaborate the various finance fi Prlcmg model (C _ )

discharged by a finance manager. Capital asset pricing model W el

e +IfRore et Rifen Re wew Brard 4|
AT P9 RICT 929113 foralt | ¥

j - Or /921

() () A company raises Rs 100,000 '

' v issue of 1,000 10% debent

. -Rs 100 each repayable at par @

lixplain the relationship between operating
and financial leVerage. B ‘ 10
years. If the rate of the compai : :

is 50, what is the cost of debt

to the firm ?

) qazlfas A >01:>erating‘<‘5l“l'<5 f38IT leverage ©19
O SR TE R

"R R WG T ARACA at par B < ik varions methods followed in

 SIRCNR 1,000 10% welofaatfe
T I @51 100,000 5491 o
| 2 T 2 50 2, Capital budgeting 2 =17 o afs
2R A @A T4 T8 S 54| |
o 7

capital budgeting. 10
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' I [ frse9® Modigliani and

Or / 23 _
| Alller = (e FCABAETS 0 |

Explain the factors determinil
working capital requirement

manufacturing entity.

451 ST Afod FRIFl
g eIt € =i e el 4

(d) Elaborate the factdrs determinil

dividend policy of a corporate @

Rtin; corporafe W{@Tﬁ Aroriee e
et Sesimang <eeie ol

Or/qaqt

Critically examine the Modigli
Miller approach on dividend. "

4 (Sem 5) FNMN/G i Sem 5) FNMN/G 15 | 10000




